EARAROBREBRT —5 XN—ZXBISH—F 20224638198 (£) 1ERR#11H

R PEE AR N EERNEEETIE R

[AE%] 1 7%:5,200,000 § ~ 237 :2,100,000 @ .~ 37 :1,300,000 4 3&:780,000 § . 5 7&:520,000 H

B %S RS M ML B5F (F8) ML (EE) | BBEIRfI | £3F |SHEH | AS | #F | B FRE) / BE / £ERS

11111 | 73507 %3 | T 2:(2_9).0 6-8-7-6 [34.9] 94.6 | 1 (43; g;g 7)%?(;*)
RiFA—TAVNT~ B:yvyeO- FUIY UG

1 o NESPAEA # 3 iﬂ%ﬁ‘ 2:(37(;.1 6-7-5-5 |36.2| 84.0 | 4 (5028) gl’ig%x E=)
RYMI/TSIY 8=/ TW—L— RS

N > NESCEPL=b # 3 | BEGT 2:(32(;.4 2-2-3-3 [36.6| 81.1 | 3 zzz)z giﬁg& &R
RIN=YTSA BiXA23DNL—H Be

4|5l10| 97—7TRI—R w3 R 7 A IRl Rl Rt B Mol 5w P P
R:iT—IRYY T BALAAXET—I F4PLANIST

slgligl T RY3a—7—9— i3 5%2?%!?%5!2 2(:33/04.)6 12-12-11-7 [ 36.3| 79.0 | 7 (4_862) g%ﬁ ER)
RIN-EVIv— B:O-FZRT4N REFIS

EH 3|F—F—aVRIL tv 3 g%%ﬁic (22311/2(; 1-1-1-1 |37.5| 759 | 6 (4760) ;Jé;?%ﬁ(ﬁ%)
RiIET7RA7 By RAFR—5 #HEIT7—LA

715l 9| UPLFOTF VS o3 ;-?68(3)% 2(/3;5) 10-10-11-11) 36.4 | 75.1 | 2 (4312) g%ﬁ%@{%ﬁ)
RiFA—TAVNT~ B:TI7LUA g—L—-JvN\NY - T7—LERE

8l12|FLSNILTD # 3 | Bk 2(731E§) 9-9-8-7 [36.8| 75.4 | 14 ?332) ;ﬁﬁﬁ ESS)
RYMITSIY BIVATAUS Ve SHs

] Sl mavnuz w3 | BAEG g | e [ws[ma [ e [iEE B
R:RoSXVT B:OAVT7FU7 JRETa1—T7—L

10/ 8115/ ZW—70O— %3 | HERE 2:(321).5 13-13-13-13| 36.8 | 70.6 | 15 z:g;) Eﬁ%@%@%
RivEWIF— BYYF—AEU— 2L —hIT—1

EH 5| FVVETF/FEF 3 EJSIA%‘(-)** (21:311/.47) 5-6-8-11 |37.1] 69.0 | 11 go) éﬁg?& €20
RiFVVrY/FEF BALF—Va BRI7—1

1l N t—y— i 3 | EERE 2(;33/14.)9 16-16-16-16( 36.8 | 66.7 | 13 ig? ﬁgﬁﬁ—%i)—xaaj‘
RVIN=RF—k 8PV TAFAT7—1
2RANTFFO—2 o3 | FHAE 2:(352).7 14-14-13-13|38.0 | 60.8 | 8 (4660) ﬁg;ﬁéf?j for i
RiUFVF4—X B:YvU—RIAA) /=Y T7—L
FPE—ILTF T4 3 | EAET 2:(373).8 10-10-10-9 | 39.3 | 53.3 | 12 (41;) ng% &R
Ril—5—YvT BiAVFUYazZRb e
XAV 3IR=Z—%9 # 3| JIEEX (21314/2(; 15-15-13-13 39.2 | 51.4 | 16 (f;) %ﬁﬁg ()
RAZSRZ—F Huky hNI—RSL RS
FASF oY 4 3 ?ﬁ@ (23314/263 2-4-5-9 | 40.2 | 48.4 | 10 (4644) E;i E§¥§)
RiRUT#Y B:FAZ /A% LAI915T7—1

[ I N

£B0 47.9-35.5

NOYVIA L | 12.7-11.5-13.0-12.9-12.5-12.9-12.8-12.8-12.4-11.7-11.5-12.3

® 1—F—EBIEfL

13—F— |3-(4.8)7,5(1,12,10)2(6,9)16,15-11,14-13
20—F— | 3(4,10)(8.7)5,12,1,2(6,9)16-15,11,14-13
30— — [3.,10(4,7)-(.12)1(5,2)6(16,9) (15,11,14)-13

41—F— (+3,10) (4,7)12,1(16,2) (8,6) (5,9) (15,11,14)-13
@ ILRE
& s 1 180 | | 94 K& 1-12 280F9 | | # & 1-6 560/ | | 3&& 1-4-12 1,330
& B 1 1104 1-4 20| | 5 &= 1-12 590 | | 3:&& 1-12-4 3,440H
12 170M 4-12 750m| | B & 1-12 770
4 170M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



